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Corrigé de I'exercice 1

»1. la fonction f est décroissante sur [—5; —1] et [1; 4], croissante sur [—1; 1] et [4; 5].

T -5-3—-10 1 2 4 5 T -5 —4 0 1 3 5
4 2 —2 4 3
f (@) \0 0/ \0 g9 (x) \ 0/
T T 0—20
NN N/
2. -3 —4 —4

Corrigé de I'exercice 2

»1. la fonction f est décroissante sur [—5; —1] et [1; 3], croissante sur [—1; 1] et [3; 5].

T -5 -4-10 1 2 3 5 x -5 -4-3-20 1 3 4 5

4 2 4

\ /1\ /O VARV
f () 0 0 0 g (z) 0 0 0 0
VARRY

»2.

Corrigé de I'exercice 3

»1. la fonction f est décroissante sur [—1; 1] et [3; 5], croissante sur [—5; —1] et [1; 3].

T —-5-2-10 1 2 3 5 T -5 -3 =2 0 1 2 4 5
3 4 3 -1 2
AN, \ / \ /
f(z) 0 0 0 g (x) 0 0
/o N/ \ /
>3 —4 -2 0 -3 - =3 —4
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